S g=F il FR30E5/1 BEE
BEBEXZ
2R R FEX
B R (RFiEY) KE F&E
R (HEFEY) 5% Bz
EEXRAERE RE &
IDEBEZEHERE N EIRF
REFMEME O E—
EEEUAEHE NiRFE M
SENIEHEHE BX EE
EEZHEHRE RE WeH
YNEYTF—LavEMERE AL FEBF
AHZEE FE8 EZE
#HFME RE &
ATATEEE =t -
REFME TR BE—
SNEZEFEDE N B
REEERERE INE B
FHEFHE 2 FEF
BBEXZREPKRES
2R HE MF
S RHE (P RZIMIELY) xll BEF
EEHERER BN BTE
REFHE FEE EE
EDRRAHRERER AT IEF
[ZFR A E ]
B Eljt%jt%[‘”’ CTEETE = (BT )k)_l_
g | EBIR | 3 F|1 & 3
ERARER (Bt 2 2 1 = 15
ﬁﬁruﬂ;ﬁlﬁzuﬁiﬁlﬁt) 8 1 3 12
FRRDEFER (ELEE) 6 4 3 13
ruﬂ;ﬁlﬁz(ﬁi&ﬁﬂ%& 5 0 0 5
19 5 6 30
REZHER ©weE %ﬁlﬁl(ﬂ"i%& 12 2 1 15
e ?—@I&(Tﬁi:&ﬁﬂnﬁi) 10 0 0 10
22 2 1 25
EFE IR EEEEIE e 12 i 0 13
SEXEHER EEE- mniﬁzﬁﬁlﬁmﬁi%h 7 2 0 9
BAE - BABHEERUELERE) 4 2 0 6
@@;ﬁmtﬁl&(%i&& 6 1 0 7
HZELE 17 5 0 22
EREIEED! 7 5 0 12
JNE YT — 3 5 19 6 6 31
= it 108 26 14 0 0 148
BEA% _ _ (B A)
[ =L S BB EE A m B E (B ]2 ;
INGEZ:S DEADU )T ER 8 5 7 5 2 27
NG gk 8 3 5 3 1 20
FELER 5 5 5 4 1 20
U E%z o] 5 3 3 1 1 13
2] i 26 16 20 13 5 80
PR H2E &?—ﬂ 7 2 5 0 3 17
ATATREER 2 1 1 0 0 4
ﬂﬁtﬂi 2E 8 1 2 0 1 12
_ 5t 17 4 8 0 4 33
AT AT EER xm-ﬁ— 8 6 3 2 1 20
FE ﬁ_,gﬂ;,l 12 2 2 0 0 16
S EEEE EKEER 7 6 6 0 1 20
hEFEFEH 3 1 3 0 0 7
iﬁlil;ﬁ—*?ﬂ 5 2 1 0 1 9
BAE- BAREAHAEFH 4 4 2 0 1 11
2 *“ il 19 13 12 0 3 47
BREEREFL AR 8 2 4 3 1 18
EEREFH 6 4 4 2 1 17
E_EE_HL ! 6 2 5 3 0 16
Il 20 8 13 8 2 51
EREST _ EZ 3! 11 5 10 10 1 37
A E 113 54 68 33 16 284
BB K EHAES (Bifr: N)
= & z 7 FE A I B BB B ]2 ;
BEEARZEER EEFER 3 0 1 0 3 7
BB 2 1 2 0 4 9
EDrRiTEEE 2 2 2 0 1 7
= i 7 3 5 0 8 23




EREXF -BEEXFEPRFPHRECTHAORFTFM

FREI0ESA1RIRE
(B A)
Et (3m FIfth a&t

iz 56(46.7%)| 51(425%)| 13(10.8%)( 120(42.4%)
HEHIR 29(50.8%)| 25(43.9%) 3(5.3%)| 57(20.1%)
H{LEEAT 28(38.4%)| 41(56.1%) 4(55%)| 73(25.8%)
B 6(18.2%)| 26(78.8%) 1(3.0%)( 33(11.7%)
&t 119(42.0%)| 143(50.6%) 21(7.4%)| 283(100%)

BhF 0 8 16 24




